A company needs to appoint 3 new assistants. 8 candidates are invited for interview; each candidate
has a different surname. The candidates are to be interviewed one after another. The personnel
officer randomly selects the order in which the candidates are to be interviewed by drawing their
names out of a hat. One of the candidates is called Mr Browne and another is called Mrs Green.

(a) Calculate the probability that Mr Browne is interviewed first and Mrs Green is interviewed
last. 12]

5 of the 8 candidates invited for interview are women and the other 3 are men. The chief executive
can’t make up his mind who to appoint so he randomly selects 3 candidates by drawing their names

out of a hat.

(b) Determine the probability that more women than men are selected. 4]



